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Language — SANSKRIT — Paper Il

( Prose, Drama, Grammar and Translation )

Time Allowed : 2 ; Hours | [ Maximum Marks : 100

SECTION - A

1. Answer any three of the following questions in about 200 words each : 3 x 8 = 24
]  Write an essay on Sclence and Sanskrit.
) Describe the role of the 1Y in the lesson AaEAH_|
) %fd FufEyd T999H — Summarise the advice of Sukanasa.

lv] Glve an account of the conversation that took place between Duryodhana

and Vasudeva.
vl How did Ceta inform the arrival of Vasantasena to Vidushaka ?

[I. Explain any four of the following with reference to the context : 4x5=20
) TO9ER: [UEE G YOEE |
ff) HAE SAASARIGY FAROT SYAEAR U8 TRt |
) & |: FEyE: T 99 ;|
v) 3% SYAFAEEIIISST THEE T TqaT0 Y gEEs |
v) 3 @ g9 R smen s

vi) ot Srsew: uftwm @
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I11.

b

c)

2
Conjugate fully any three of the following :

) 9|— 77 — Imperfect Past Tense.
) 71— fafafsg— Potential Mood.

i) Y — TR e — Present Tense.
iv) T — §Z— Il Future tense.

Decline fully any one of the following Shabdas :

) 9
)  Ag-whferg
i) fE-wifag

Decline as directed any five of the following :
) 7 — YN TFEE — Nominative Singular,
i) ®F— fadia Tg@ETI — Accusative Plural.

i) ¥aq— @ 57999 — Instrumental Dual,

tv) A€ — IfEE — wqdl e — Dative Singular.

v) HTH — UgH 9§99 — Ablative Singular.
vi) 9 — gfef — m@df g3 — Locative Dual

vil) T — W UFASTH — Genetive Singular.

3x2=6

l1xG5=5

Ex1l=ab
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SECTION - B

Translate the following passage into English : 10
FETRE Treams: sweams: m:ﬁaﬁm:mﬂﬁﬁam | Ty
AR, FufavEaae 9 3wy 9 wda o rmnm#m:ﬁﬁu’ﬁ
FEE | T S qwE: war: wefo wd |

mm:m:wﬁmmmﬁmﬂ
. aﬁﬁqqfwmvmﬁmrﬁnﬂq:"mﬁw | wftfafirs: Ao,
AT, — AR A | et wed S eht vy

) Godis everywhere.

)  There are no trees In the garden.

i) Ganga flows from the mountain,

tv) We all always obey the words of elders.
vl  These evils arise from greed.

Vi)  They endure misery with calmness.

vil) The girl helps her mother in the kitchen.
vill) She makes a garland with the flowers,

v) ﬂﬁwmmmﬂtl
vil 39 YT 919 99 A w1y

vii) BT SJ=E gumfs

vill) e IHETEE TERen: |

ix) S T8 3 7 feafy 83 |

x) g wafa syufa.
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V.

SECTION - C

Read the following passage and answer the questions given below in Sanskrit :
6x2=12

srafarge qafs: gafe: 3 2 afosh smam 1 @ 2wt e wREH aAfsfen wlafee
TR wHY FEf a0 od: a4 wie it ffes E sreeam | 99w A
wilfz: vw vA | g6 39 v o sTuge T | S gl a T 9 T ey wa: amE
TS uA AR | a9 gEfe: g e e wm s, waeed we o e
aa: faagart vnifumfod T | Wrege wowi geE | anifee srqeed ' afy wiion
a2 " sfa 1 gl T " veee | gEfeR i, wegHE g e
Y | a9 gt W wa foat o efe e awwret feva W — am gEifie: i
e E: 7 T e yeefa, e gafs: v v A

W

) Efge F sEwa ?

1) @ 3 e e wE F e § s ?

) wHEH R gl B Fem ?

tv) TEfE: wwer & e ?

v) ywifysd & s ?

vi) gEfE: T foat soaret s & w2



